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Geometry: Please clear your desk except for...

1. Assignments #17
2. SNB - Write a proof for the following.

Given: £2 and <£3 are supplementary, mZl=>50", m<3=140"

Prove: A3 L 4C A

Given: £2 and Z3 are supplementary, m./l=50° m£3=140"
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If two adjacent angles are complementary, then g,
their exterior sides are perpendicular. 1
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The Congruent Complements Theorem
If two angles are complementary to the same angle

(or to congruent angles), then the two angles are congruent.

Given: <1 and £2 are complementary :
£2 and £3 are complementary 1
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Prove: £l= /3 /\
Statements Reasons 3
1. Zl and £2 are complementa
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Congruent Supplements Converse
If two angles are congruent, then they are supplementary
to the same angle (or to congruent angles).

Given: /1~ .72 , <1 and£3 are supplementary 1 M

Prove: <2 and <3 are supplementary 2

Statements Reasons
1. =22, 21 and Ziare supplementary Given
2. mllz=ml 0.8 A4 zlS
3. mliywmL = (40° 00 ASupp. .5
b lam/s Q0 Suhed tyek < (2 23)
5. L3 and/3 gy Suppbomdnsy | DL A Supo. L5

Assignment #18
Part I: p. 60 Mixed Review #1-7
Part IT: p. 62 CE #1-6 and #7-10 (2-column proofs)

Prove the Congruent Complements Converse and
the Congruent Supplements Theorem in your SNB.



